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Wpływ stopnia rozdrobnienia na efektywność zagęszczania słomy 
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Streszczenie. 
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a, l=0%

a, l=1%

a, l=2%

a= 0,046d 2 - 0,161d  + 0,93
R2 = 0,943

a= 0,104d 2 - 0,311d  + 1,051
R2 = 0,919

a= 0,058d 2 - 0,181d  + 0,948
R2 = 0,929

c= 0,005d 2 - 0,049d  + 1,689
R2 = 0,93

c= 0,02d 2 - 0,092d  + 1,731
R2 = 0,952

c= 0,023d 2 - 0,064d  + 1,712
R2 = 0,898
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, l=0%

, l=1%
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Lc= 3,298d 2 – 4,318d  + 37,35
R2 = 0,983

Lc= 4,273d 2 – 8,814d + 39,86
R2 = 0,951

Lc= 8,313d 2 – 19,73d  + 46,18
R2 = 0,992

kc= 2,125d 2 – 2,755d  + 24,14
R2 = 0,991

kc= 4,922d 2 – 12,1d  + 29,27
R2 = 0,975

kc= 2,491d 2 – 4,922d  + 25,1
R2 = 0,923

0,8 1,0 1,2 1,4 1,6 1,8 2,0

d (mm)

0,44

0,46

0,48

0,50

0,52

0,54

0,56

S

 Sra, l=0%
 Sra, l=1%
 Sra, l=2%

S = 0,028d 2 – 0,099d  + 0,589
R2 = 0,799

S = 0,022d 2 – 0,069d  + 0,548
R2 = 0,956

S = 0,021d 2 – 0,078d  + 0,547
R2 = 0,96
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 S , l=1%
 S , l=2%
 S , l=0%
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Szm= 2,947d 2 + 0,112d  + 13,69
R2 = 0,994

Szm= 2,683d 2 + 0,238d  + 13,7
R2 = 0,993

Sza= 2,476d 2 – 2,935d  + 8,899
R2 = 0,997

Szm= 2,436d 2 + 0,876d  + 13,18
R2 = 0,992

Sza= 1,699d 2 – 1,099d  + 7,596
R2 = 0,991

Sza= 1,875d 2 – 1,349d  + 7,742
R2 = 0,992
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m, l=2%

m = 0,228d 2 – 0,588d  + 0,822
R2 = 0,874

m= 0,18d 2 – 0,398d  + 0,71
R2 = 0,871

m = 0,172d 2 – 0,516d  + 0,805
R2 = 0,933
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